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U.G. 2nd Semester Examination - 2019

ECONOMICS
> [HONOURS]
%ﬂn\ Course Code : ECOH/CC-T-XII
" Full Marks : 60 . Time : 24 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their own

words as far as practicable.
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w.% 1. Answer any ten questions: A N..xHonwo
& @- I w=ifs 2o e e o |

,mm mv\. What are the components Om aggregate demand?
o ArfEE SRR SrimmeR & e

= b) . Define GNP.

%75 Eho B (GNP) 7 wik&! e |

c)  Whatis final good? Give example.

TOI ~IGE 7 JE0S 5 @R e Suigge s |
d) Whatis oo.nmcsduaoz function?

Colel weow 2 .

e)  Whatis 'per-capita real national income'?

WPy aFS @ i 9w & @
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Define Marginal Propensity to H:ci (MPI).
AT SR g3ers et e |

What is meant by inventory?

Inventory 3=7cs & @Rt ¢

/Sﬂmﬂ.ao You mean by 'monetary base' of an
economy? :

. ﬁ@@ﬂ%@@,%@ QR 2

Whatis msacowa investment?
Arnifrs RiRcst w=ce & @Rig e

What do you mean by 'trade surplus'?

- ey Bge = s [ @wRie
- What is Hyper inflation?

Hyper inflation & ¢

Define IS curve.

IS QRIS K 7 |

What is 'frictional CDQBEOV\EWE.@
e @Y f e .
Define GDP deflator.

. GDP A=EIbS I (= 2

What is the cost push inflation?

JaCo u-_,m_ué_@ =2
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b)

d)

r any four questions:

gra TG WIS 8
Distinguish between :

oH1ef) (TS 8

National Income and Personal Income,

_v\ Gre = 8 JEoe S

Real GDP and Nominal GDP. -
ggs GDP ¢ HIfds GDP

What causes the IS curve to shift?
IS Gl s <predl A ARS A FCa 2
How would you explain a vertical IS curve?

BerH IS (@I eI I FHE 2
Explain briefly the concept of 'Paradox of thrift'.

‘oo SeeRaEers’ g9 Jewseel I

91
In an economy, the household buys bread worth

Rs.200 from the 'baker' and flour worth Rs.80
from the .Bm:mn._ The baker spends Rs.100 to buy
flour from the miller to be used in production.
The miller does not purchase NB.% intermediate
input. Compute GDP by value added method.
@I @S0 I IITR, ARy HeFEh
SFSIIACT IR (ICF 00 Bl Y@ GG o7
ﬁmgmn%%nﬁwoﬂﬂﬁwﬂﬂ
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Show.that the value of the multiplicr is smaller

for an ov.m: economy than that for a closed

economy.

@le @, TF GAfere eqd IH 15 9w

CEOIRE T
i) What are the functions of money? (any two)

wnds s S 9 (- @I 1)

Give the alternative definitions of money.

i) Gi
: 2+3=5

3.  Answer any twe questions:

wa R[{feq wifamiotefera st @R |
10x2=20

I b 2R Ten e &
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.Describe the Simple Keynesian model of
equilibrium national income determination
where investment is ,moﬁo.:bmboa

- -exogenously. (both algebraically and
. graphically)
=y are ey i mﬂ %ﬁwﬁ
SreEls wdal 9 @I R T3 70gS,
esiide e qmm AR SIFAR] GroR S
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ii)  Explain briefly the condition of stability of

cquilibrium in this model. 7+3=10

92 S Sy fZaerg =it & ot Aewces I
41 ‘ :
Consider an open cconomy with C=200+0.75Y,
Qluoo I=150, Export (X)= mmo H:Eon ™M) =
50+0.3Y. _
Compute thé o:m:mwm in 'Y' and in the trade
surplus if . .
(i) - X becomes 950 and
(ii) autonomous import increases to 75. ‘

| . 21x4=10
@Ff> & FYART WG @IC=200+0.75Y,
G=300, I=150, X=850 ¢ M=50+0.3Y, Y 4

iy g % A 73 o 9w 51, I

() X AfFfSe @ seo @R

(i) - TEES ST ARSI (@S B Qe |

. What is Balanced Budget multiplier?

ST AT 2T 52 .
Show.that the value of Balanced-Budget

X

ii)
multiplier under Simple Keynesian

-framework (with govt) is equal to 1.

F et 2+8=10
FHNe @, T ﬂﬁmﬂ TR I ACED
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1 icfly explain the'impact of inflation on differeng .
d) DBr ns of the society. Briefly discuss the factop,
S::;loonslblc {or inflation. | 5+5=10 |
' . A e O TR et ey,
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